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import java.lang.Math;

import java.util.Scanner; el Ak
public class Main
{
public static void main(String[] args) {
double start_x, step_Xx, X, V;
int i
Scanner s = new Scanner(System.in);
System.out.printin("Please Enter start_x =");
start_x = s.nextDouble();
System.out.printin("Please Enter step _x =");
step_Xx =s.nextDouble();
for (i =1;1<=20; i++) {
X =start_x + (1 * step_Xx);
y = Math.sin(x);
System.out.printf("sin(%8.3f) = %8.3f¥n", X, y);
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import java.lang.Math;
import java.util.Scanner; s 155
public class Main

{

public static void main(String[] args) {
szgble start_Xx, step_x, X, V; jF_/_I_\_ |\b\,5 D
int i; -
: J = gd)u}b 5’7‘

Scanner s = new Scanner(System.in);
System.out.printin("Please Enteytaﬂ_x/—"
start_x = s.nextDouble();

System.out.printin("Please Enter
step_Xx =s.nextDouble();
for (I1=1;1<=20; i++) {
X =start_x + (1 * step_Xx);
y = Math.sin(x); _
System.out.printf("sin(%8.3f) = %8.3f¥n", x, y):«— [H|[HIZ=7~




BIE 1 DT O S AETHER
B > Fn | ©0ebuo | @Sop Pt 1

Main.java

[y

java.lang. g
java.util.Scanner;
Main

main( [] args) {
start_x, step_x, x, y;

ij
Scanner s Scanner( .in);
.out.println("Please Enter start_x =");
start_x = s.nextDouble();

POWw~NOWU&wN

.out.println("Please Enter step_x =");
step_x = s.nextDouble();
(i=1;1 20; i++) {
x = start_x + (i * step_x);
y .sin(x);
out.printf("sin(%8.3f) = %8.3f\n",

Please Enter start x
0.4

Please Enter step x
0.1

a

0.500) =
0.600) =
0.700)
0.800)
0.900) =
00) =
.100)
.200)
.300) =
.400) =
.500)
00)
.700) =
.800) =
.900) =
.000)
.100)
.200) =
.300) =
.400) =

Tl
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...Program finished with exit code 0 5
Press ENTER to exit console‘D
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start_x = s.nextDouble();

step_x = s.nextDouble();
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(i=1;i ; i) {

x = start_ x + (i * step_x);

y .sin(x);
out.printf("sin(%8.3f) = %8.3f\n", X, y);

o |B|HIZR~
out.printf("sin(%8.3f) = %8.3f\n", X, y);
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Slack — Bring your team together with Slack, the collaboration hub for work.

int main()

{
("Hello World");

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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Main

ARIA Vi

main( [] args) {

%%}Qi%:t .out.println("Hello World");
MWTES

v input

Command line arguments:

Standard Input: @ Interactive Console O Text

10



E1TFIE (1/4)

\ET WEVE!

Java.lang. 5
java.util.Scanner;
Main

args) {

Scdaliier > STS-TITITSTY .in);
.out.println("Please Enter start x =");
start_x = s.nextDouble();
.out.println("Please Enter step x =");
s.nextDouble();
| 5 1++) {
x = start x (1 * step_x);
.sin(x);
out.printf("sin(%8.3f) = %8.3f\n", X, y);

1
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Main_java
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java.lang. B
java.util.Scanner;
Main

v B w M

main( [] args) {
start_x, step x, %, y;

J "

1;
Scanner s Scanner( .in);
.out.println("Please Enter start_x =");
start x = s.nextDouble();
.out.println("Please Enter step_x =");
step x = s.nextDouble();

(1 ; 1 ; 1++) {

x = start x (i * step x);
y .sin(x);
out.printf("sin(%8.3f) = %8.3f\n", x, y);

Please Enter start x =

EITHEEHIENSD
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1 java.lang. 5
; java.util.Scanner;
Main
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main( [T args) {

(1 s 1 y 177) 1
x = start_x (1 * step x);
y .sin(x);
out.printf("sin(%8.3f) = %8.3f\n", x, ¥);

Please Elter start x =
0.4

Dlooooeliiter step X =
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java.lang. 3
java.util.Scanner;
Main

W ENEVE

=

main( []1 args) {
start_x, step_x, » -

Erns _C_'T’B ( 25;5&1_575’ ANS L,

start_x = s.nextDouble()

-out.println("Plea |l :I:
step_x = s.nextDouble(); [
(i=1;1i < 20; i++ lm /I\
start_ x + (i * s

y .sin(x);
.out.printf("”s

W e~ b whi

Please Enter start_x =
0.4

Please Enter step x =
0.1

sin( 0.500) =
sin( 0.600) =
sin( 0.700) =
sin( 0.800) =
sin( 0.900)
sin( .000)
sin( .100)
sin( .200)
sin( .300)
sin( .400) =
sin( .500) =
sin( .600) =
sin( .700) =
sin( .800) =
sin( .900) =
sin( .000)
sin( .100)
sin( .200)

sin( .300) 0.

sin(

N N N N N e e e e ]
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Main.java

java.lang. H
java.util.Scanner;
Main

NP

main( [] args) {
start_x, step x, x, y;
i
Scanner s Scanner( .in);

i Al A TTNT ArnrA Comdmem it

[Stop] =Fw/
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.out.printf("sin(%8.3f) = %8.3f\n", X, y);

Please Enter start x =
0.4
Please Enter step x =

[
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import java. lang. Math:
import java.util.Scanner:
public class Main

public static void main(String[] args) {
double start_x, step.x, x, y:
int i:
Scanner s = new Scapner(System. in):

)
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System. out. printIn(“Please Enter start x ="): M a n a a O) I j 7— A ’ =17 /r) bg Z\‘{% r?
start_x = s.nextDouble () :

System. out. printIn(“Please Enter step_x ="): I 'J V d\ J

step_x = s. nextDouble():
for (i =1: i <=20; i+) {
x = start_x + (i * step_x):
y = Math. cos (x)
System. out. printf (“cos (¥8. 3f) = %8.3f¥n", x, y):

@ javac AN > ROD=ELT

»javac Main. java

@ java O~N > RODOFEIT

> Java Main
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sin( 0.400) = 0.389
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Main_java
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1 java.lang. H
java.util.Scanner;
Main

N

main( []1 args) {
start_x, step x, x, y;

i;
Scanner s Scanner( .in);
.out.println("Please Enter start_x =");
start_x = s.nextDouble();

® W oo~V bW

.out.println("Please Enter step_x =");
step_x = s.nextDouble();
(i 3 1 3 i) {
x = start_x + (i * step_x);
y .son(x);
.out.printf("sin(%8.3f) = %8.3f\n", x, y);

Compilation failed due to following error(s).

y = Math.son(x);

S

symbol: method son(double)

location: class Math 18
1 error




e ¥.
JO0 5 /% cos DIEZERFE TEBRLS(CESTIR
2T, EfTmUiaEun.

.cos(Xx);

out.printf("cos(%8.3f) = %8.3f\n", X, y);

€U, cos(0.4) DIEZHESR LIRS0,

cos ( 0.400) =

19
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